

כפולת הס'ים
 $\sigma, \tau \in S_n$
 תהי'נה הס'ה

$$\text{sign}(\sigma\tau) = \text{sign}(\sigma)\text{sign}(\tau)$$

הוכחה : דני' ההוכחה:

$$\text{sign}(\sigma\tau) = \prod_{1 \leq i < j \leq n} (\sigma\tau)_{ij}$$

דבר

$$(\sigma\tau)_{ij} = \begin{cases} 1 & , \sigma\tau(i) < \sigma\tau(j) \\ -1 & , \sigma\tau(i) > \sigma\tau(j) \end{cases}$$

אם $\tau(i) < \tau(j)$ אז $\sigma\tau(i) < \sigma\tau(j)$ כי σ יגדל

$$\textcircled{\text{I}} \begin{cases} (\sigma\tau)_{ij} = \sigma_{\tau(i), \tau(j)} \\ \tau_{ij} = 1 \end{cases}$$

אם $\tau(i) > \tau(j)$ אז $\sigma\tau(i) > \sigma\tau(j)$ כי σ יגדל

$$\textcircled{\text{II}} \begin{cases} (\sigma\tau)_{ij} = -\sigma_{\tau(j), \tau(i)} \\ \tau_{ij} = -1 \end{cases}$$

$$\tau^{-1} i_{ij} = -1$$

:6.22

$$\text{sign}(\sigma\tau) = \prod_{1 \leq i < j \leq n} (\sigma\tau)_{ij} =$$

$$= \prod_{\substack{1 \leq i < j \leq n \\ \tau(i) < \tau(j)}} (\sigma\tau)_{ij} \cdot \prod_{\substack{1 \leq i < j \leq n \\ \tau(i) > \tau(j)}} (\sigma\tau)_{ij} =$$

$$= \prod_{\substack{1 \leq i < j \leq n \\ \tau(i) < \tau(j)}} \overset{\textcircled{I}}{\sigma_{\tau(i), \tau(j)}} \cdot \prod_{\substack{1 \leq i < j \leq n \\ \tau(j) < \tau(i)}} \overset{\textcircled{II}}{-\sigma_{\tau(j), \tau(i)}} =$$

$k = \tau(i)$ $l = \tau(j)$ $k < l$ τ על k ו- l $k < l$ τ על k ו- l $k < l$ τ על k ו- l

$k = \tau(j)$ $l = \tau(i)$ $i < j$ $-e$ $i < j$ $-e$

$\tau^{-1}(k) < \tau^{-1}(l)$ $\tau^{-1}(k) > \tau^{-1}(l)$ $i = \tau^{-1}(k), j = \tau^{-1}(l)$ $i = \tau^{-1}(l), j = \tau^{-1}(k)$

$$= \prod \sigma \cdot \prod (-1)$$

$$= \prod_{1 \leq k < l \leq n} \tau_{k,l} = \text{sign}(\sigma)$$

$$\prod_{\substack{1 \leq i < j \leq n \\ \tau(l_j) < \tau(l_i)}} \tau_{i,j} = \text{sign}(\tau)$$

$$\prod_{1 \leq i < j \leq n} \tau_{i,j} = \text{sign}(\tau)$$

($\tau_{i,j} = 1 \rightarrow$ א.ב.ס.ב. , $\tau(i) < \tau(j) \rightarrow$ א.ב.ס.ב.)

∴ $\text{sign}(\sigma\tau) = \text{sign}(\sigma) \text{sign}(\tau)$, א.ב.ס.ב.

∴